
https://www.leads4pass.com/gre-test.html
2024 Latest leads4pass GRE-TEST PDF and VCE dumps Download

 

 

 

GRE-TESTQ&As

Graduate Record Examination Test: Verbal, Quantitative, Analytical
Writing

Pass GRE GRE-TEST Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.leads4pass.com/gre-test.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by GRE Official
Exam Center

 

 

Latest GRE-TEST Dumps | GRE-TEST VCE Dumps | GRE-TEST Exam Questions                                1 / 8

https://www.leads4pass.com/gre-test.html
https://www.leads4pass.com/gre-test.html
https://www.leads4pass.com/gre-test.html


https://www.leads4pass.com/gre-test.html
2024 Latest leads4pass GRE-TEST PDF and VCE dumps Download

QUESTION 1

If the ratio of positive integer x to positive integer y is 4 to 3, then x + y must be a multiple of integer k. where k > I. What
is the value of k? 

A. K= 7 

Correct Answer: A 

 

 

QUESTION 2

Mary Beard notes that the classical past has never been________ by only one political tendency or party: the classics
have been used in support of revolutions as well as dictatorships. 

A. endured 

B. relinquished 

C. forsworn 

D. critiqued 

E. co-opted 

Correct Answer: D 

 

QUESTION 3

Adapting to its changing environment and building its own ecological niche in interactions with other disciplines, the
scientific discipline of ecology can be seen as highly_________. 

A. anarchic 

B. cerebral 

C. opportunistic 

D. speculative 

E. competitive 

Correct Answer: C 

 

QUESTION 4

How many fnsi-ye.it students did 112! take the placemen! exam in 1995 ? 
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A. 57 

B. 63 

C. 66 

D. 70 

E. 73 

Correct Answer: D 

 

QUESTION 5

A. Quantity A is greater. 

B. Quantity B is greater. 

C. The two quantities are equal. 

D. The relationship cannot be determined from the information given. 

Correct Answer: C 

 

QUESTION 6

A divide between aesthetic and technical considerations has played a crucial role in mapmaking and cartographic
scholarship. Some nineteenth-century cartographers, for instance, understood themselves as technicians who did not
care about visual effects, while others saw themselves as landscape painters. That dichotomy structured the discipline
of the history of cartography. Until the 1980s, in what Blakemore and Harley called "the \\'Old is Beautiful\\' paradigm.*
scholars largely focused on maps made before 1800. marveling at their beauty and sometimes regretting the decline of
the pre-technical age. Early mapmaking was considered art while modem cartography was located within the realm of
engineering utility. Alpers. however, has argued that this boundary would have puzzled mapmakers in the seventeenth
century, because they considered themselves to be visual engineers. 

According to the passage. Alpers would say that the assumptions underlying the "paradigm" were 
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A. inconsistent with the way some mapmakers prior to 1800 understood their own work 

B. dependent on a seventeenth-century conception of mapmaking as visual engineering 

C. unconcerned with the difference between the aesthetic and the technical qualities of mapmaking 

D. insensitive to divisions among cartographers working in the period after 1S00 

E. supported by the demonstrable technical superiority of maps made after 1S00 

Correct Answer: A 

 

QUESTION 7

In the 1980s the press release announcing the discovery of a new fundamental particle turned a once_______ 

hypothesis of interest to no more than a few hundred physicists into an undisputed fact of global significance. 

A. cogent 

B. fungible 

C. recondite 

D. preeminent 

E. discretionary 

Correct Answer: C 

 

QUESTION 8

Al a certain high school. 90 percent of seniors who take physics also take calculus and 60 percent of seniors who take
calculus also take physics. If 30 percent of seniors at the school take physics, what percent of seniors take calculus? 

A. 45% 

Correct Answer: A 

 

 

QUESTION 9
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A. Quantity A is greater. 

B. Quantity B is greater. 

C. The two quantities are equal. 

D. The relationship cannot lie determined from the information given. 

Correct Answer: C 

 

QUESTION 10

Exhibit. 

A. Quantity A is greater. 

B. Quantity B is greater. 

C. The two quantities are equal. 

D. The relationship cannot be determined from the information given. 

Correct Answer: B 

 

QUESTION 11
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The three children in the Alden family contributed 30 percent of the amount budgeted for savings. The oldest child
contributed SI50 more than the youngest child, and the middle child contributed $60 more than the youngest child. What
was the median of the amounts that the children contributed to savings ? 

A. $230 

B. $270 

C. $290 

D. $300 

E. $380 

Correct Answer: C 

 

QUESTION 12

Unfortunately. most of the (i)_________suburbia comes from metropolitan critics who glimpse it only fleethigly.
Accustomed to the more structured forms of the city, they see only visual (ii)_________. And failing to recognize the
interactions customary in an urban setting in the social and community life of suburbanites, they see social
(iii)_________and miss the real diversity and richness. 

A. appreciation of 

B. analysis of 

C. encroachment on 

D. chaos 

E. analogies 
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F. enhancements 

G. development 

H. practices 

Correct Answer: BEF 

 

QUESTION 13

A. Quantity A is greater. 

B. Quantity B is greater. 

C. The two quantities are equal. 

D. The relationship cannot be determined from the information given. 

Correct Answer: B 

 

QUESTION 14

Although the claim that no one knows what dark matter is remains parallel assertion that dark matter has not been
detected. 

A. contentious 

B. questionable 

C. sound 

D. prominent 

E. unassailable 

F. unverifiable 

G. some scientists dispute the 

Correct Answer: CE 

 

QUESTION 15

Business leaders who prefer centralized, pyramidal managerial structures to diversity and competition tend to
(i)_________dissent in the decision-making process. But this insistence on (ii)_________can be dangerous in that it
deprives decision makers of a full range of alternatives. 
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A. foster 

B. spontaneity 

C. deprecate 

D. unanimity\\' 

E. overrate 

F. ambiguity 

Correct Answer: BE 
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